
SECTION 2.4 Point Slope Form of Equations 

 

 

 

 

 

 SLOPE-INTERCEPT FORM  POINT-SLOPE FORM 

 

1)  

       

 Plug slope, x and y (from the point) into the equation to find b 

   y = mx + b 

   2 = -6(-3) + b 

   2 = 18 + b  move 18 to left and subtract it 

   -16 = b then rewrite the equation using slope and b 

     y = -6x -16 

 

2) 

 

 

 

 

 

 



3)  

 

 

 

 

 

 

 

4)  

 

 

 

 

 

 

     

5)  

 

 

      SLOPE=   =
8−0

14−4
=

8

10
=

4

5
  

   Then use 1st  point (4,0)  y – 0 = 
4

5
(x-4)   

         y = 
4

5
(x-4)   



6)      

 

      SLOPE=   =
6−0

18−3
=

6

15
=

2

5
  

   Then use 1st  point (3,0)  y – 0 = 
2

5
(x-3)  

         y = 
2

5
(x-3)   

 

        

7)  

 

  SLOPE=       =
2−0

9−4
=

2

5
=

2

5
  

   Then use 1st  point (4,0)  y – 0 = 
2

5
(x-4)  

         y = 
2

5
(x-4)   

 

 

8)  

 

  SLOPE=       =
5−0

9−3
=

5

6
  

   Then use 1st  point (3,0)  y – 0 = 
5

6
(x-3)  

         y = 
5

6
(x-3)  

 



9)  

 

 

 

 

 

 

 

 

 

10)  

 

 

 

 

 

 

 

 

 

 

 

 



9)  

  

    

    SLOPE=   =
12−4

7−2
=

8

5
  

   Then use 1st  point (2,4)  

         y – 4 = 
8

5
(x-2) 

 

 

10)  

   

   

    SLOPE=   =
4−9

5−3
=

−5

2
= −

5

2
  

   Then use 1st  point (3,9)  

    y – 9 = −
5

2
(x-3) 

 

 

 

 

   

 

 

 



        (x ,y)         m      

11)           same slope m= 3 

   y = mx + b 

   8 = 3(4) + b 

   8 = 12 + b   move 12 to left 

   - 4 = b  then rewrite the equation using slope and b 

   y = mx + b 

   y = 3x – 4 

 

         (x ,y)         m 

12)           same slope m= 2 

   y = mx + b 

   7 = 2(1) + b 

   7 = 2 + b    move 2 to left 

   5 = b  then rewrite the equation using slope and b 

   y = mx + b 

   y = 2x + 5 

 

13)  

 

 SLOPE=      =
10−0

16−4
=

10

12
=

5

6
  

   Then use 1st  point (4,0)  y – 0 = 
5

6
(x-4)  

         y = 
5

6
(x-4)  

 



14)  

 

 

 SLOPE=      =
3−10

5−2
=

−7

3
= −

7

3
  

   Then use 1st  point (4,0)   

         y – 10 = 
7

3
(x-2)  

          

 

 

 

   

 

 

15) 

       (x ,y)                   m   

          Flip and change the sign m = 
5

6
 

   y = mx + b 

   8 = 
5

6
 (- 5) + b 

   8 =  −
25

6
  + b   add 

25

6
 to 8 in calculator to get b  

   
73

6
   = b  then rewrite the equation using slope and b 

   y = mx + b       

   y = 
5

6
 x + 

73

6
    

 



16)  

 

     SLOPE=
6−11

3−5
=

−5

−2
  

  Then use 1st  point (5,11)  

          

 

 

 

 

 

 

        (x ,y)           m 

17)               

  same slope m= 4 

   y = mx + b 

   7 = 4(4) + b 

   7 = 16 + b   move 12 to left 

   -9 = b  then rewrite the equation using slope and b 

   y = mx + b 

   y = 4x – 9 

 

 

 

 

 



18)  

       (x ,y)                   m   

          Flip and change the sign m = 
4

5
 

   y = mx + b 

   7 = 
4

5
 (- 5) + b 

   7 =  −4  + b   add 7 to 7 in calculator to get b  

   11   = b  then rewrite the equation using slope and b 

   y = mx + b       

   y = 
4

5
 x +11    

 

 

19) 

        (x ,y)   m  

    change sign, reciprocal, reciprocal m = −4,  

   y = mx + b 

    3 = (−4)(-4) + b 

    3 = 16 + b   move 16  to left  

   -13 = b    then rewrite the equation using slope and b 

   y = mx + b  

   y = -4x −13   

 

 

 

 

 

 



20) 

         (x , y)   m  

   same slope m = 3  

   y = mx + b 

    -7 = (−3)(-4) + b 

    -7 = 12 + 𝑏   move 12  to left  

   -19 = b    then rewrite the equation using slope and b 

   y = mx + b  

   y = - 3x −19   

 

 

 

21) 

        (x ,y)   m  

    change sign, reciprocal, reciprocal m = −5  

   y = mx + b 

    3 = (−5)(-5) + b 

    3 = 25 + 𝑏   move 25  to left  

   -22 = b    then rewrite the equation using slope and b 

   y = mx + b  

   y = - 5x −22   

 

 

 

 

 

 



22) 

        (x ,y)   m  

    change sign, reciprocal, reciprocal m = −3  

   y = mx + b 

    4 = (−3)(-3) + b 

    4 = 9 + 𝑏   move 9  to left  

    -5 = b    then rewrite the equation using slope and b 

   y = mx + b  

   y = - 3x - 5   

 

 


